Unit 3 - P. 20

NOTEBOOK SET UP for UNIT 3
· Open to your first BLANK PAGE
· Put the sticker tab given to you on the side of the page so to easily find this section in your notebook.  Put a 3 on the tab.
· Write UNIT 3 on this page.  This is the page on the right with your notebook open.
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[image: ]Unit 3 KEY Vocabulary
p.82 	Like Terms – are terms that have the same variables 
raised to the same exponents. Constant terms are 
also like terms.
		
p.82 	Simplest Form – when an algebraic expression has no 
like terms and no parentheses.

p.88	Linear Expression – is an algebraic expression in 
which the exponent of the variable is 1.
	
p.92	Factoring an Expression – you write the expression 
as a product of factors.  
	
p.98	Equivalent Equations – are two equations that have 
the same solutions.












Unit 3 KEY Vocabulary Continued
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Book p. 82-83
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Check your homework.  Write the number correct on the top of your page.

Bell Ringer 12/1/15
[image: ]Identify the Terms and Like Terms in each expression below.
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Do ON YOUR OWN 4-6 below example 2 here.  
Show all of your work







Homework 12 – 17 
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[image: ]Bell Ringer 12/2/15  - DO ON PAGE 11 of Unit 3 in your notebook
a)Check your homework.  Write the number correct on the top of your paper.
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Do ON YOUR OWN 7-9 below example 3 here.  
Show all of your work
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Do ON YOUR OWN 10 below example 4 here.  
Show all of your work
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Show your work for the homework problems on this page.
Please keep your work organized and number all problems.
Write your final answer on the Homework sheet.
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Show your work for Practice 3.1 here
Write your final answer on the practice sheet on the left page.

















Wednesday Bell Ringer:
[image: ]
Use the key above to write the sum or difference of two algebraic expressions modeled by the algebra tiles.  Then use the algebra tiles to simplify the expression.
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Wednesday Bell Ringer:
[image: ]
Use the key above to write the sum or difference of two algebraic expressions modeled by the algebra tiles.  Then use the algebra tiles to simplify the expression.
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Bell Ringer notes go here
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Do ON YOUR OWN 1-4 on this page
Show all of your work!
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Do ON YOUR OWN 5-6 below example 3 here.  
Show all of your work









[image: ]
[image: ][image: ]
Do ON YOUR OWN 7 below example 4 here.  
Show all of your work
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Show your work for the homework problems on this page.
Please keep your work organized and number all problems.
Write your final answer on the Homework sheet on the left page.




















Bell Ringer Quiz
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Bell Ringer Quiz
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Use to show your work for the Bell Ringer Quiz.  
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Do ON YOUR OWN 1-4 and 15 below.  Show all of your work
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Do ON YOUR OWN 1-4 and 15 below.  Show all of your work

3.1 Notes
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3.2 notes
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3.2 Ext. Notes
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2.3n+7-n-3
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1. z+8—4z
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1. Terms: z, 8, —4z;
Like terms: zand —4z

2. Terms:3n,7, —n, —3;
Like terms: 3n and —n,
7and —3
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5. 64r—7-29r
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Simplify the expression.
4. 4h—8h 5. 64r—7-29r

6. Sx+19->x—7 7.32+q) +15
5 20
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4. —4h
5. 35r—7
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EXAMPLE (¢ MLENGOEREHEN NN CN T

Identify the terms and like terms in each expression.

a 9x—2+7-x b. z2+5z-3z°+z
Rewrite as a sum of terms. Rewrite as a sum of terms.
9x +(=2) + 7+ (—x) z2+ 52+ (329 +z
R e e N ——
Terms: 9x, —2, 7, —x Terms: z°, 5z, —3z°, =z

Like terms: 9xand —x, —2and7  Like terms: z° and —3z° 5zand z

An algebraic expression is in simplest form when it has no like terms and
no parentheses. To combine like terms that have variables, use the
Distributive Property to add or subtract the coefficients.
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@ On Your Own

Identify the terms and like terms in the expression.

. Y
Exercises 5-10 _ § 2 2 _ —
and 1217 1. y+10 2y 2. 2r°+7r—=r°—9 3. T+4p—-5+p+2q

’

Simplify the expression.
4 14-3z+8+z 5 25¢+43x—5 6. %b—%h
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Practice and Problem Solving

Identify the terms and like terms in the expression.
@ 5. r+8+3t 6. 3z+4+2+4z 7.2n—n—-4+7n

8. —x—9x?+12x%+7 9. 14y+5-42-5%+z  10. %s—4+%s+é—x3

11. ERROR ANALYSIS Describe and

correct the error in identifying x Bx—5+22 +9x=3x+ 22+ 9x—5

the like terms in the expression. 8
Like Terms: 3x, 2x°, and 9x
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5. Terms: t, 8, 3t;
Like terms: t and 3t
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Terms: —x, —9x2, 12x2, 7;
Like terms: —9x2 and 12x?
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—x—9x2+12x%2+7
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7. Terms:2n, —n, —4,7n;
Like terms: 2n, —n, and 7n
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9. Terms: 1.4y,5, —4.2, 75y2, z;
Like terms: 5 and —4.2
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Terms: —s, —4,=s, =, —s°;
4 8
. 1 3
Like terms: Es and Zs,

—4 andl
8
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ls—4+§s+l—s
2 4 8
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11. 2x%is not a like term,
because x is squared. The
like terms are 3x and 9x.
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120N [JEH 28 Simplifying an Algebraic Expression

Simp]ify%y+ 12 —éy— 6.

y+12 + (——y) + (—6) Rewrite as a sum.

To subtract a variable
term, add the term with
the opposite coefficient. y+ (7%)/] + 12+ (—6)  Commutative Property

4 of Addition
= [% + (77) ]y + 12 + (—6) Distributive Property

=-y+6 Combine like terms.
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Simplify the expression.
@ 12. 12g+9g 13, 1lx+9-7 14. 85— 115+ 6

15. 4205 — 6.50 16. 8+4a+62—9a 17. §y74+77%y

© 18. 4b-6)+19 19. 4p—5(p +6) 2. 7§(12c‘ —9) + ldc
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16. 8+ 4a+62-9a=8+62+4a-9%
=8+62+(4-9a
=142-5a

2 2 29
17 Zy—4+7-—y=—4+7+2y-—
5 07 AT

:74+7+[572Jy
510
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12. 12 + 9g = (12 + 9)g

13 1lx + 9 —

21g

=1lx+2

14. 85 —1ls+6=(8—11)s + 6

15. 42v -5 - 6.5v

35 +6

42v - 65v -5
(42-65w -5
23v-5
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6x —4x + 16
2x + 16
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12. 21g 13. 11x+2
14. —3s+6 15. —23v -5

16. 142 -5a 17. 3—%}/
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3.8y — 4+ 72y
11y — 4
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EXAMPLE (& p! g an Algebraic Expression

Simplify —%(Sn +4) +2n.

“Lon+ 9+ 20=-Low + (—%](4) +2n  Distibutive Property

=-3n+(-2)+2n Multiply.
=-3n+2n+(-2) Commutative Property

of Addition
=(=3+2n+(-2) Distributive Property
=-n-—-2 Simplify.

@ On Your Own

d Simplify the expression.
Exercises 18-20 7. 3G+ 1D -4 8. —20g+4+7g o 7—4[%1—%]
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EXAMPLE (4} GEEIBGEY. T [TEHT]

Each person in a group buys a ticket, a medium drink, and a large
popcorn. Write an expression in simplest form that represents the
amount of money the group spends at the movies. Interpret the
expression.

Words Each is eachmedium is and eachlarge is $4.
ticket $7.50, drink $2.75, popcorn
Small | $175 Variable  The same number of each item is purchased. So, x can
Medium $2.75 represent the number of tickets, the number of medium
Large  $3.50 drinks, and the number of large popcorns.
Popcorn
Small  $3.00 Expression 7.50 x + 2.75x + 4x
Large  $4.00
7.50x + 2.75x + 4x = (7.50 + 2.75 + 4)x Distributive Property
=14.25x Add coefficients.

i+ The expression 14.25x indicates that the total cost per person
is $14.25.

@ On Your Own

10. WHAT IF? Each person buys a ticket, a large drink, and a
small popcorn. How does the expression change? Explain.




image29.png
23. REASONING Are the expressions 8x? + 3(12 + y) and 7x% + 7y + 4x% — 4y
equivalent? Explain your reasoning.
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26. CARWASH Write an —
expression in simplest form
that represents the earnings
for washing and waxing x cars and y trucks.
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Car Truck

Wash  $8 @ $10
Wax  $12 | $15
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Simplify the expression.

1.4x + 2 — 3x 2.8y -3-10y -6
1 2

3.-2x+3—-8x 4. —y + 3y — =
27 TS
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Practice
For use after Lesson 3.1

Identify the terms and like terms in the expression.

1. 3x+4-7x-6 2. =9+ 25y =07y + 1+ 6.4y*
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Simplify the expression.

3. 5a—-2a+9
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5. 23w —7+81-3w 6. 7(d —1)+2
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7. 13g + 2(4k - g) 8. 20(p +2) +16(-3 - p)
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9. Write an expression in simplest form that represents
the cost for shampooing and cutting w women’s hair
and m men’s hair.

Women | Men
Cut $15 $7
Shampoo $5 $2
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E,js,sem)tt@,ll Q(Lli@Sjﬂ@mJ How can you use algebra tiles to add or

subtract algebraic expressions?

Key: @ = variable & = —variable @& = zero pair
[ B=-1 B = zero pair

1

Work with a partner. Write an algebraic expression shown by the algebra tiles.

» @YY b R
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1. (EDeeeN)+(Emyy)
2 (EDEDeee) + (meee)
(@YD) - (EDERHHY)

s (EDEeees) - (EDyy)
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You can use a vertical or a horizontal method to add linear expressions.

Find each sum.

a (x—2)+(@Bx+8

Vertical method: Align x—2
like terms vertically and add. +3x+8
4x+6

b. (—4y+3)+(1ly—-5)

Horizontal method: Use properties of operations to group
like terms and simplify.

(—4y+3)+(1ly—5=—4y+3+11y—5 Rewrite the sum.
=—4y+1ly+3-5 Commutative Property
of Addition

=(-4y+11)) +B-5) Group like terms.
=7y—-2 Combine like terms.
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EXAMPLE (72 SLCETTNTETA STTES NS

Find 2(-7.5z + 3) + (52— 2).
2(=75z+3)+(5z—2)=-152+6+5z2—2 Distributive Property

=—-15z2+5z+6—2 Commutative Property

of Addition
=—10z+4 Combine like terms.
@ On Your Own
: ' Find the sum.
Exercises 8-16 1. x+3)+@2x—-1) 2. (Bz+4)+(B2-7)

3. (4-m+2(5n+3) 4 Sw=6)+tw+12)
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EXAMPLE (2 S ER T NAEETA ST (I

Find each difference.
a. (5x+6) — (—x+6) b. (7y+5) — 2(4y —3)

a. Vertical method: Align like terms vertically and subtract.

To find the opposite of

a linear expression, (5x + 6) 5x+6
you can multiply the —(—x+6) + x—6
expression by —1. 6x

b. Horizontal method: Use properties of operations to group like terms

and simplify.
(Ty+5) —2(4y—3)=7y+5-8y+6 Distributive Property
=7y—8y+5+6 Commutative Property
of Addition

=(7y—8y) + (5+6)  Group like terms.
=-y+11 Combine like terms.
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@ On Your Own
Find the difference.
5. (m—=3)—(-m+12) 6. —2(c+25)—5(1.2c+4)
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EXAMPLE (4} BGEEIBGE. T [TEHT]

The original price of a cowboy hat is d dollars. You use a coupon and
buy the hat for (d — 2) dollars. You decorate the hat and sell it for
(2d — 4) dollars. Write an expression that represents your earnings
from buying and selling the hat. Interpret the expression.

earnings = selling price — purchase price Use a model.

=Q2d—4)—-(d-2) Write the difference.
=@2d—4) +(-d+2) Add the opposite.
=2d-d-4+2 Group like terms.
=d-2 Combine like terms.

i+ Youearn (d — 2) dollars. You also paid (d — 2) dollars, so you doubled
your money by selling the hat for twice as much as you paid for it.
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@ On Your Own
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7. WHAT IF? In Example 4, you sell the hat for (d + 2) dollars. How
much do you earn from buying and selling the hat?
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@/ Vocabulary and Concept Check

VOCABULARY Determine whether the algebraic expression is a linear expression.
Explain.

1. P +x+1 2. —2x-—8 3. x—axt
4. WRITING Describe two methods for adding or subtracting linear expressions.

5. DIFFERENT WORDS, SAME QUESTION Which is different? Find “both” answers.

Subtract x from 3x — 1. Find 3x — 1 decreased by x.

‘What is x more than 3x — 1? What is the difference of 3x — 1 and x?
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(@ Practice and Problem Solving

Write the sum or difference of two algebraic expressions modeled by the
algebra tiles. Then use the algebra tiles to simplify the expression.

- (=ggg) + (EmeReED)
" (Emsswes)_(@mosos)

GlHs -
Find the sum.
DD 8 n+8)+mn-12 9. (7—b)+Bb+2) 10. (2w —9) + (4w —5)
1. (2x—6) +4(x—3) 12. 5(-3.4k—7) + Bk +21) 13. (1 —5¢) + 2(2.59 + 8)

14. 32-0.9h) + (~1.3h—4) 15. é(g—smwriuzm—g) 16. —%(7z+4)+é(5z— 15)
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17. BANKING You start a new job. After w weeks, you have
(10w + 120) dollars in your savings account and
(45w + 25) dollars in your checking account. Write an
expression that represents the total in both accounts.
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Find the difference.
0 19. (—2g+7) — (g +11) 20. (6d+5)— (2 —3d) 21. (4 —5y) —2(3.5y —8)

22. (2n-9) -5(-24n+4) 23, {(~8c+16)~1(6+30 24 2Gr+6) — (v —24)
25. ERROR ANALYSIS Describe and correct the error in finding the difference.

X (4m+9)—3(2m—5)=4m+9 —6m—15
=4m—-6m+9—15
=-2m—-6
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Identify the terms and like terms in the expression. (Section 3.1)
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3. 2lx+6-x—5 4. 8x+14—-3x+1
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Simplify the expression. (Section 3.1)
5. 28x+x) 6. —7+3x+4x
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M. 2-k) +3(—4k+2)
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Find the sum or difference. (Section 3.2)
9. (s+12)+ (35— 8)
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13. (n—8)—(-2n+2) 14. —3(h—4) —2(-6h +5)
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Factor 24x - 18 using the GCE.

Find the GCF of 24x and 18 by writing their prime factorizations.

24x =[2142+2 3)e x Circle the common prime factors.
18=2/+3

So, the GCF of 24x and 18 is 2 « 3 = 6. Use the GCF to factor the
expression.

24x — 18 = 6(4x) — 6(3) Rewrite using GCF.
=6(4x—3) Distributive Property
i+ So,24x — 18 = 6(4x — 3).

You can also use the Distributive Property to factor out any rational
number from an expression.
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EXAMPLE (8 S i KN L ETATN ]

Factor —2 out of —4p + 10.

Write each term as a product of —2 and another factor.

Math

Practice —4p=-2+2p Think: —4p is —2 times what?
View as 10=-2+(-5) Think: 105 —2 times what?
Components

How does rewriting PP

each term as a Use the Distributive Property to factor out —2.

product help you see —4p+10=—2+2p+ (=2) + (5) Rewrite the expression.

the common factor?

= =2[2p + (=5)] Distributive Property
= —202p-5) Simplify.

So, —4p + 10 = —=2(2p — 5).
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@ Practice
Factor the expression using the GCE
1. 9+21 2. 3248 3. 8x+2 4. 3y—24
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15. WRESTLING A square wrestling mat has a perimeter of
(12x — 32) feet. Write an expression that represents the

side length of the mat (in feet).
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@ Practice
Factor the expression using the GCE
1. 9+21 2. 3248 3. 8x+2 4. 3y—24
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EXAMPLE Simplifying an Algebraic Expression

Simplify —%(Gn +4) +2n.

—%(en Ty ton= —%(sn) ¥ (—%] ) +2n  Distributive Property

=-3n+(-2)+2n Multiply.

=-3n+2n+(-2) Commutative Property
of Addition

=(-3+2n+(-2) Distributive Property

-n—2 Simplify.




image64.png
EXAMPLE (7 SLCLTTAMEETA ST ESE

Find 2(-7.5z + 3) + (52— 2).
2(=75z+3)+(5z2-2)=-15z2+6 +5z—2

=—152+52+6—2

=-10z+4

Distributive Property

Commutative Property
of Addition

Combine like terms.
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Identify the terms and like terms in the expression.




